
Model Answer of the Preliminary Examination held on 24.05.2016 of Assistant in 
the High Court of Judicature at Patna 

 
Question No. Correct Option 

1. D (introduced) 
2. No correct option provided  
3. A (Progress) 
4. B (with warmth) 
5. D (Hurriedly and in confusion) 
6. A (Prioratise) 
7. B (Obnoxcious) 
8. A (Pennetrate) 
9. A (Passagway) 
10. C (Tempastuous) 
11. D (ought to) 
12. D (with) 
13. C (In) 
14. D (Glutton) 
15. D (In) 
16. C (Neither has any merit) 
17. A (After knowing truth) 
18. B (Decide on your next) 
19. C (Let him speak) 
20. D (No error) 
21. C (Devious) 
22. C (Somnambulist) 
23. C (Hinder) 
24. B (Ophthalmologist) 
25. B (Negate) 
26. C (They are over-used) 
27. C (We can not stop using antibiotics) 
28. D (Antibiotics are used indiscriminately) 
29. C (Antibiotics) 
30. B (it is a common practice antibiotics) 
31. B (Aurangabad) 
32. D (Pacific ocean) 
33. C (Article-17) 
34. C (J & K) 
35. B (42nd amendment) 
36. B (Squash) 
37. A (October 20, 1947) 
38. D (U.S.A.) 
39. C (Karnataka) 
40. D (6 months) 
41. C (Rajasthan) 



42. A (The Afghans) 
43. A (Attorney General of India) 
44. D (Jammu & Kashmir) 
45. A (Compassionate Buddha) 
46. B (Inertia of motion) 
47. D (A Constitution for India) 
48. C (INSAT-4A) 
49. C (Fundamental Rights) 
50. B (Alam Ara) 
51. No correct option provided 
52. A (Pound) 
53. C (Carbon dioxide) 
54. B (Bacteria) 
55. C (52 seconds) 
56. A (Battle of Buxar, 1764) 
57. D (Tornado) 
58. C (14 years) 
59. B (Inflation) 
60. B (Rabi) 
61. D (728) 
62. C (Rs. 14,202) 
63. B (732 kgs) 
64. D (6.3 litres) 
65. No correct option provided 
66. A (18) 
67. C (80 km/hr) 
68. A (767) 
69. D (16 years) 
70. A (Rs. 27,200) 
71. B (9) 
72. C (1/32) 
73. B (3.14) 
74. B (24) 
75. B (0.3%) 
76. A (3) 
77. C (355) 
78. B (34 years) 
79. A (500) 
80. B (20%) 
81. A  (vfHkO;fDr) 
82. A  (dqyhu) 
83. B  (lewgokpd laKk) 
84. A  (xhrk lcls Js’Bre xzaFk gSA) 
85. C  (fud`’V) 
86. D  (Hkkookpd laKk) 



87. B  (fu%$jksx) 
88. D (vkKkdkjh.kh) 
89. C  (fujis{k U;k; djuk) 
90. D  (laca/kokpd loZuke½ 
91. B  (xjhch) 
92. D (ugha) 
93. C  (daxu] diM+k {kf=;) 
94. B (la;qDr okD;) 
95. B  (dchj) 
96. A (dey) 
97. C (lkS ckj) 
98. B  (jkKh) 
99. A  (vf/kdj.k) 
100. B  (L=hfyax) 

 
 If anyone has any objection related to any of the aforesaid answers, he/she may feel free 
to bring it to the notice of the undersigned with supportive reference on or before 2nd June 
2016.  
 

Registrar General 


